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Question Booklet Number
U9e GRA®BT HAID

1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.

In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.

Read all instructions on the reverse of O.M.R. Answer Sheet.

3. OnO.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for aquestion, it would also be treated
as wrong answer.

6. Each question has five options/circles. Firstfour options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does notdarken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she hasfilled
up any one option/circle for each questions.

1. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadgetin the
examination hallis strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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FB AT WO ST U 3 T 7 W B 60% IS
ST &1 % 12,250 U¥ 2 T4 | 3T AT X T qHGIG
STST T &I ?

(A) %5390 (B) T 4,900
(C) 8918 (D) 8,820
(B)  3rqaRa e

U STATERET H8® GRT TSR & G 59 HT
IGTC & TRIT ITIT AT ?

(A) 1773, 1949 (B) 20 AT, 1949
(C) 22 3TV, 1948 (D) 18 3TeT, 1948
(E)  3rgaia usd

frafafga & ¥ wew sifus twfpameita eng
BAATE?

(A) 9RT (Hg) (B)  wieRmE (K)
(C) #=REAE (Mg) (D) FT (Pb)

(B) STIaRa wed

TR ¥ ‘Ao 30d’ 69 &9 # sritea fean
ST ® ?

(A) TR (B) et
©) IR (D)  3WER
(B)  STIaRa ued

TR T BT 75%, 75 | SS9 THOMH T&l §=aT
AT TE TEATE

(A) 316 (B) 300
(©) 260 (D) 280
(B) TIaRa ued
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A sum of money increases by 60% of itself in
3 years on simple interest. What will be the
compound interest on X 12,250 in 2 years at the
same rate of interest ?

(A) %5390 (B) ¥ 4,900
(C) 8918 (D) 8,820

(E)  Question not attempted

When was the United State of Rajasthan
inaugurated by Pt. Jawaharlal Nehru ?

(A) 17 May, 1949 (B) 20 March, 1949
(C) 22 April, 1948 (D) 18 April, 1948

(E)  Question not attempted

Which among the following is the most reactive
metal ?

(A) Mercury (Hg) (B) Potassium (K)
(©) Magnesium (Mg) (D) Lead (Pb)

(E)  Question not attempted

In which region is the ‘Matsya Festival’ held in
Rajasthan ?

(A) Bikaner (B) Bundi
(©) Alwar (D)  Ajmer

(E)  Question not attempted

Upon adding 75% of a number to 75, the result is
the number itself. The number is :

(A) 316 (B) 300

(© 260 (D) 280

(E)  Question not attempted
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Y = FT TG HAIT T 450 3R T 1,050 H TWIAST |
I T T 16% ATH b AT AR I TG 10%
F11 o T ST | 9 TR e § IHBT AT T
Tt wfererer T B |

(A) T, 6% (B) &N, 2.5%

(©) =, 6% (D) =, 2.2%

(B) 31 aRd e

TG AT ST AT B TGATaat Bt & & §
AT Bt FFT AT 7 QTS foRaT T 2 2

(A)  Ta9T aiET wel

(B) 379 WIp (e feTea
(C) TR 3T F Tc TTET
(D)  afyas frem Rae

(B)  3raRd e

frfaiaa & ¥ 9 Ot 98T 999 98 B A8HE
TG L ?

(A) == (B)  Smm=H
(C) ieRY (D) =Tt
(B) STIaRa wed

e FFTeRT = T 25,000 BT T ST TN F FTEMLOT ST
O T OX S, TH AT 8% TATTHH UX 3T G 6T
10% T I | TTS SATST B THTET ST 8.7% ATHD
TE, A 10% X 13T T 0T I ARIFTE 2

(A) T 14,250 (B) 8,750
(€ %9500 (D) %16,250
(B) TIaRa ued
56HH 3

Madhur bought two items for ¥ 450 and ¥ 1,050
respectively. He sold the first item with 16% profit
and the second item with 10% loss. Find his profit
or loss percentage in the whole transaction.

(A) Profit, 6% (B) Profit, 2.5%

(C©) Loss, 6% (D) Loss, 2.2%

(E)  Question not attempted

In which UNESCO list were the manuscripts of the
Bhagavad Gita and the Natyashastra recently
included ?

(A) World Heritage Sites

(B) Intangible Cultural Heritage
(©) Memory of the World Register
(D)  Global Education Report

(E)  Question not attempted

Which of the following rivers is not a tributary of
Banas River ?

(A) Berach (B) Jakham

(C©) Kothari (D) Khari

(E)  Question not attempted

A person lent ¥ 25,000 on simple interest in two
parts, one at 8% p.a. and the other at 10% p.a., if
the effective rate of interest comes out to be 8.7%
p-a., then what is the amount lent at 10% ?

(A) T 14,250 (B) 8,750

(C) 9,500 (D) ¥ 16,250

(E)  Question not attempted

P.T.O.
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13.

W
IS

frafaiaa & o S-91 TSRATT o TId ®F
Terer for9ie 9 F U1t 9 F T TSTRATHT Afgeratt

T TaATET 3 srwal R HlEd 2
(A) oy ofdt B) Wi
© =T (D) et
(E)  STIaRa ued

T 7 T a% WIS 3R IH 10% ATH F AT
3ifepa &t o T | ifepa S/ 5% T & FT FaA
I Tl ot 9a= 7 39 95 F v T 1,386
THTT, T A o T8 a%] b+ § @At o 2

(A) 1,150 (B) 1,200
(C) T1,225 (D) 1,240
(B)  3raRd 9o

frrfeafad & & 19 TR & quU ofd FHT a6
AT S AT [ T F (2025 TF) ?

(A) 37T T

(B)  IRiTiTE YrETad

(©)  EIreTre ATt

(D)  HigweTe qear

(B) STIaRa ued

270 Tt Bt g R ¥ T HIA H, T B AT
2 Hc B oI & | TS I I, B BT BT 60%

2, T HR Bt I (T /HeT ) & -
(A) 80 (B) 85
C) 75 (D) 90
(B) 3raRd 99
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10.

11.

12.

13.

Out of the following, which Rajasthani folk genre
of music that specifically focuses on the emotions
and experiences of Rajasthani women related to
fetching water ?

(A)

Panihari (B) Maand

(©) Khayal (D)  Qawwali

(E)  Question not attempted

Sunil bought an item and sold it with 10% profit to
Ankit. Ankit sold it with 5% profit to Chetan. If
Chetan paid % 1,386 for the item, then for how
much Sunil bought the item ?

(A)

(©)

(E)  Question not attempted

21,150 (B) ¥1,200

31,225 (D) 1,240

Who among the following has been the longest
serving Chief Minister of Rajasthan (as of 2025) ?

(A)  Ashok Gehlot

(B)  Bhairon Singh Shekhawat
Heera Lal Shastri
Mohan Lal Sukhadia

(E)  Question not attempted

To cover a distance of 270 km by car, it takes
2 hours less than that by bus. If the speed of the
bus is 60% of that of the car, then the speed of the
car (in km/h) is:

(A) 80 (B) 85

< 75 (D) 90

(E)  Question not attempted



14, Tr=faRea sifwlear wfeon (g - 1) &1 396
SUTET ATARHRAT TR (T - 2) & T A=
B

-1 gt -2
(Tt TspaT Tt (srfafsr &
THNR)

@ | C(s)*Oo(g) > (i) | f& feamos
COy(g) TR

(b) CaCO4(s) i) (i '
CaO(s)+COx(g) SIRER

(c) | Pb(s)+CuCly(aq.) (iii) | IMTESA
—PbCly(aq.) 3TRTTRaT
+Cu(s)

(d) | NaySOy(aq.)+BaCl, | (iv) | faeema=
(aq.)—>BaSOy(s) ITTHTRAT
+2NaCl(aq.)

Tow U faemedt # o W& SO T
(A)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(i)
(B)  (a)-(i), (b)-(iii), (c)-(iv), (d)-(i)
©  (a)-(i), (b)-(iv), (c)-(iii), (d)-(i)
(D) (@)-(i), (b)~(iv), (c)-(id), (d)-(iii)
(B)  3rgana ued

15. IR F Ry Hia #2025 H Alfe 3R
131877 & 171 7 377 TRTET & 7T I=T o & FwATea
[ERIERIES
(A)  ofiF B fasTe
(B) HIEA A HFaR
Q) ST HERTS
(D) ST ST
(B)  3rgana ued

16.  TAteTREd Sicll & § i AT ST o9 | Fad 3T
fgam# Rea &
= o Ty ferepedt # | W UGS I BT AT
B ;

(A)  ToTHHE ST (B) W g
(©)  foreter sie (D) =Bt ST
(B)  TIaRa wed
%.& 56HH 5

14.

15.

16.

Match the following reaction equations (given in
List-1) with their appropriate type of reaction
(given in List-2) :

List-1 List-2
(Reaction (Types of
Equations) Reaction)

(@) | C(s)+Oy(g) — (i) | Double
COy(g) Displacement

Reaction

(b) CaCOs(s) A (ii) Comb.mahon

Reaction
CaO(s)+COy(g)

(c) | Pb(s)+CuCly(aq.) (iii) | Decompo-
—PbCly(aq.)+ sition
Cu(s) Reaction

(d) | NaySOy(aq.)+BaCl, | (iv) | Displacement
(aq.)>BaSOy(s) Reaction
+2NaCl(aq.)

Choose the correct answer from the options
provided :

(A)  (a)-(iii), (b)-(ii), ()-(iv), (d)-(3)
(B)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(3)
(©)  (@)-(i), (b)-(iv), (c)-(iii), (d)-(3)
(D) (@)-(), (b)~(iv), (c)-(ii), (d)-(iii)
(E)  Question not attempted

Which of the following renowned poet from
Rajasthan, received the Padma Shri in 2025 for his
work in Literature and Education field ?

(A) Sheen Kaaf Nizam
(B Mohan Lal Kumhar
(C)  Baijnath Maharaj
(
(

~

S

Begum Batool

E)  Question not attempted

Among the following lakes, which one has the
northern-most location in the state ?

Choose the most appropriate answer from the
options provided below :

(A) Rajsamand lake (B)
(C) Pichola lake (D)

Sambhar lake
Nakki lake
(E)  Question not attempted

P.T.O.
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TSR 15T b1 Taelt Al &g, S 2015 § FqR 7
JEES M, FTAWE:

(A) T g (B)  =afre
© oA (D) 3ifesT e
(B)  3raRd 9o

Tepett I T A fferiad # o fraesT aa
gATE?

(A)  SFA-TT URYS

B) e o WAl

Q) THATAAS

D)  wRa fatee s

E) 3raRd ued

T & UUH I§ § YARMW-I o fhy qwfera
fFaT 2

(A)  wEHE IS
(B)  ¥EwIg RY
(C) T HIA
(D)  QmE e
(E) 3maRa usT

I IF ‘AT AT teEd § ¥ e
TRt F ST ST ?

I 15T 7T foshedt # § qaH Y I BT A
Y

(A) =W (B) X
(©) st (D) ==t
(B) STIaRa wed

TS | FaT FUEH Uh G A gl gaT
TIETOT F T H, teiigd § d 9l Sigsl

3 Tt oM 2 (e SUgERT 3T ) «
(A)  ®HA AT
B) UgSieR &4l

O) TETHTF IUTHT b IUANT H TGRT
D) fyafa =
E) 3raRd ued

17.

18.

19.

20.

21.

The first metro line of Rajasthan state, which began
operating in Jaipur in 2015, is named as :

(A) Pinkline (B)
(C©) Redline (D)

Blue line
Orange line

(E)  Question not attempted

The Chief Minister of a state is a member of which
of the following ?

(A) Inter State Council

(B)  Public Accounts Committee
(C)  State Selection Board

(D)  Election Commission of India
(

E)  Question not attempted

Whom did Prithviraj-III defeat in the First Battle of
Tarain ?

(A) Mahmud Ghazni

(B) Muhammad Ghori

(©) Muhammad Qasim

(D) Shah Alam

(E)  Question not attempted

The musical instrument ‘Khadtal’ is typically made
using which of the following materials ?

Choose the most appropriate answer from the
options provided below :

(A) Leather (B)
(©) Wood (D)

Strings
Cloths
(E)  Question not attempted

Soil erosion is a major challenge in Rajasthan. Soil
conservation efforts include all of the following,
except (choose the most appropriate answer) :

(A) Crop rotation

(B)  Strip cropping

(C©) Increased use of chemical fertilizers

(D) Regulated grazing

(E)  Question not attempted
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T T8y TR 8 & ?
T faT T fapedt 7 § HeE SUGERT TR T AT
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(A)  THT 3T G= B MG A I
(B) 3Tud WHg-TR H gig
(C)  wATTerat % foreTed & &1 ST HH &7
(D) waal # Hlc WHAU F UG AGI TS
TgALTeTdT T STREH

(B)  3rqaRa e
TR PR ZRT U9 TG TiSHET F agd
TR Tt & FTT H9-37 38 A1 8 2
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© == HAR (D)  =p3iteT fopu gU aex
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(A)  Toamt T
(B) et
Q) IgT/THS BIHET
(D) i
(B)  3rgana wed
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TR § ffeiiad # ¥ e Tt TRt W)
TR T o 2
(A) NH-57 (B) NH-218
(C) NH-968 (D) NH-76
(B)  3rqaia e
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22,

23.

24.

25.

Which of the following is not a direct consequence
of human-induced climate change ?

Choose the most appropriate answer from the
options provided below :

(A) Increased frequency of heatwaves and

droughts

(B) Rise in mean sea-level
Decreased risk of species extinction

Increased risk of crop susceptibility to pest
infestation

(E)  Question not attempted
Under the Panch Gaurav Scheme, which product

has been selected for the Sriganganagar district by
the government of Rajasthan ?

(A) Wheat flour (B) Kota stone
products

(C©) Mustard oil (D) Embroidered
textiles

(E)  Question not attempted

Which of the following tree species is commonly
found in Rajasthan, but is not native to the state ?

A)  Vilayati Kikar

B) Dhau

Raunjh/Safed Kikar
D) Kumatiya

E)  Question not attempted

The cable stayed Bridge Project over the Chambal
River was constructed on which of the following
National Highways in Rajasthan ?

(A)
(©)

(E)  Question not attempted

NH-57 (B)
NH-968 (D)

NH-218
NH-76

P.T.O.



26.

27.

28.

29.

30.

W
IS

WA % FiTa & i Hefargd § § &I 91
HifeTe BN T & 2

A)  HiEplde 37T AT feErR

(

(B)  oriwoT 3 e arferam

(C) e ITTRI T ARTHR
(D)  die T TMIHR

(B) 31 aRd e

aﬁqﬁmﬁ%:%;%%wﬁﬁlsﬂﬁﬁm
TET qAT T Biel F=AT F 37T 36 2| g AT §

(A) 54 (B) 72
(C) 24 (D) 60
(B)  3raRd e

2024 ® Tl H I U= F {10 foba Raamteai

T 3T qTEBTY & FHATI AT ?
A) 17 B) 12

© 22 D) 32

(B)  3raRd e

HET IR BT BT AT 0T AT TR B IOTHTA
(Red Blood Cells) & {01 & f7q I=amt &an

(A) wRass (B) 31y HoeT
© === (D) wwg
(E)  3MaRd 99T

et &9 A frbiird St figt & BrRR-Ug-Biue

TE-Tep Mg THATSe BT AT TR ?
(A) FfRTTHEF?2 (B) AWTTAF?2
(C) smwERTTARE2 (D) 3/
(B)  3rqaia e
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26.

27.

28.

29.

30.

Which of the following is not a Fundamental Right
under the Constitution of India ?

(A) Cultural and Educational Rights
(B) Right against Exploitation

©
(D)

(E)  Question not attempted

Right to Constitutional Remedies

Right to Vote

2 1 3

2 4
difference between the greatest and the smallest of
these numbers is 36. The smallest of the three
numbers is :

(A) 54 B 72
(C) 24 (D) 60
(E)  Question not attempted

Three numbers are in the ratio . The

How many players have been awarded Arjuna
Awards for Outstanding Performance in Sports
and Games 2024 ?

A 17 B 12
© 22 (D) 32
(E)  Question not attempted

Which part of the human body is responsible for
the manufacture of Red Blood Cells ?

(A)
©)

(E)  Question not attempted

Brain (B) Bone marrow

Heart (D) Lungs

What is the name of the indigenously developed

third generation Anti-Tank, Fire-and-Forget
guided missile ?

(A) AgniMk?2 (B) NagMk2

(©) Akash Mk2 (D) Amogha

(E)  Question not attempted
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35.

TSR T ST T T e E
(A)  gEeeiiEET

(B)  argr-rer ¥ FE

(© ek ot Forar-wdt e

(D)  drrfer 1 e &=

(B)  arfaRa ued

TR TS W ST T

(A) Fg (B) ™
© TB (D) fed
(E)  Sraid wed
et # o 3T 9Ts3 2 -

(A)  Hiemr (B) =t
©) Raema (D) EiRX
(B)  SrIana wed

o

TfeRad ol § & P Wiaaras da &7
ISTEOT Al B2

(A)  TUTSIIET B FHIST TTEATE |

(B) IERAAY feqt Wife #f s i
2l

(C) fEarsiaaTHTRALHE |
(D)  HHATE BT AT T |

(B) 3ranra wed

“ToRelt TR | UL H 3T I B 2B AT F
T s =t

(A) 3= (B) g
(C) feream (D)  wasT
(B)  IrIana wed
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36.

37.
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39.

40.

Teh 375 T 1 H A &A1 =8y

(A) WAAWIAAT  (B)  ITHEAT

Q) feramiwt (D)  SHTHITT LG
SOl

(E)  Sraid ged

“TTYOT 9163 H TR T &

(A) o (B) =7

© & (D)  or

(E) @i g7

fr=feRga & 9 ®i9 aReAmaEs faewor &t
ISR ?

(A)  SEAIEAA (B) e fepamal
(©) Frea-wraEd (D) Fueg Rafa
(E) @i g7
frrferiae # 9 i fagert s A 2 2

(A) (B)  3rQTEAd

© =g (D) gt

(E)  Sraid ged

TTaTad 7 ¥ S[& 19 BT 94 BT

(A) &9 LT & ST |
(B) NI ST HIATE |

(C) &R J&T ATITHT B RTAT HT W7 qa&l
z |

(D) 9IS g HTH TET & ST |

(B) 3ranra ued

P.T.O.
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“GRITTHA’ 9763 T WY-Ter=sg &N -

(A) g+ e (B) gH+mEA
©) F+mEA (D)  g+3mE
(B) 31 aRd wed

TTATTREr ¥ & 18 31e% BT a4 BT :
(A) TR (B) gfe

© T (D) u=

(B) SrIana wed

efated gt ¥ ¥ foame g9qm &1
SEEUTHIAATE ?

(A) ST 3IS ST & T8 BT 3T T2l 5 TehaT |
(B) TEATATII |

(C) =i F TS, T M3 |

(D) ¥ ¥d T S |

(B)  3raRd ued

o [aNEaN

Frfefad # & dgwa s &

(A) F5 (B) U
©) 3m (D) 3mr
(B) SrIana wed

“HH’ T BT S

(A)  smTpias (B) M
(© =i (D)  wrpias
(B)  IrIanad wed

2.& 56HH
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46.

47.

48.

49.

50.

(A)  TnSTTA (B) amWTA

© g (D)  aTasTI

(B) 3raRa ued

‘BASIS’ T 31T TTE ? HIY IUYEA (I I+ |
(A)  3MuR (B) HqA

(©) e (D) fr

(B) 3raRa ued

ferAfetiiaa & & “ofter” oTeg FT U= U3 B :
(A)  @Ra (B) fam

©) P (D) Had

(B) A wed

At REd A A T AH TS 2

(a)

(b) T

© BT

(d) g

() IS

= fog T faspeat # & T IUGE 3T BT 99T
HITSTT :

(A)  HIA ()3 () (B)  Faet () 3 (d)
©) FHFAA()3M(b) (D)  HAA (c) 3T (e)
(B)  3rana wed

FepeeTferorer & & Bt ATHEITe] R b1 FRTERTE 2
(A)  gRrEmT (B) =T

(© ster (D) &

(B) SrIanad wed



51.

52.

53.

54.

W
IS

Complete the given sentence by choosing the
most appropriate answer from the options
provided :

It never occurred the traffic police to

ask the erring driver a proof
his identity.
(A) to, for, of (B)  with, to, with

(© by, from, by (D)  to, with, from
(E)  Question not attempted

Select the most suitable option to fill in the blank
in the following sentence :

I spent money I had.
(A) thelittle (B) any little
(©) little (D)  the few

(E)  Question not attempted

Choose the most appropriate Hindi translation
of the given sentence from the options
provided :

Will you do me a favour ?

(A) T T IR TEHTH FHIA ?

(B) T 3T T U TEHT AT ?
(C) =T 3T B Hag HOT ?

(D) =T T U 7T X EIT 2
(E)  Question not attempted

Choose the most appropriate option to convert
the following sentence from Direct Speech to
Indirect Speech :

Vineet said, “Let us watch a movie today.”

(A) Vineet suggested they could go for a
movie today.

(B)  Vineet suggested that they may watch a
movie that day.

(C)  Vineet suggested that they should watch a
movie that day.

(D)  Vineet recommended they watch a movie
that day.

(E)  Question not attempted

56HH
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55.

56.

57.

58.

Choose the most appropriate option to translate
the given sentence from Hindi to English :

SR = FHT AT 1 g A8 § T B (54T

(A)  Ohno! The rain is ruining my flowers.

(B) The rain completely destroyed all the
flowers.

(C) The rain has destroyed some of my
flowers.

(D) This rain will only stop after it has
destroyed all the flowers.

(E)  Question not attempted

For the Assertive Sentence given below, choose
the most appropriate Exclamatory Sentence from
the options provided :

It is very sad that her mother is no more.
A)  Alas! Her mother is no more.

B)  Oh! Mother is no more.

C) Her mother was no more!

D) Her mother has been no more!

(E)  Question not attempted

Choose the most appropriate tense of the given
verb from the options provided in order to
complete the given sentence :

She this gymnasium for the last two
years and has no plans of partnership.

(A) runs (B)  will have run

(©) hadrun (D)  has been running
(E)  Question not attempted

Choose the most suitable article from the
options given below in order to complete the
given sentence :

He has equipped himself with MBA
degree.
(A) an (B) a
(©) the (D) any
(E)  Question not attempted
P.T.O.



59.

60.

61.

W
IS

Choose the option with the wrong use of
punctuation(s) :

(A) Imethim in the auditorium.

(B)  She said to me, “When I met him, he was
playing.”

(C©)  Go back, Parth shouted.
(D)  If you stab him, he will die.
(E)  Question not attempted

Fill in the blanks in the given sentence by
choosing the correct words from the options
provided :

It is very that you are by the
advancement India has made in the last five
years in science and technology while you were
away from the country.

(A) awed, odd (B) odd, add

(©) odd, awed (D) add, owed

(E)  Question not attempted

Which of the following is the correct
transformation of the given Assertive Sentence
into a Negative Sentence ?

I am satisfied with the way things are
progressing.

(A) I am not satisfied with the way things are
progressing.

(B)  Things are not progressing and that makes
me dissatisfied.

(©) 1 am wunhappy that things are not
progressing.

(D) I am not satisfied and things are not
progressing.

(E)  Question not attempted

56HH
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62.

63.

64.

65.

Choose the option that correctly identifies an
error in the given sentence :

“I am not on speaking terms with Anisha,” say
Sana.

(A) Iamnoton (B)  speaking terms
(C)  with Anisha (D) say Sana
(E)  Question not attempted

Which of the following is the correct
transformation of the given Interrogative
Sentence into an Assertive Sentence ?

Was he not a villain to do such a deed ?

(A) He was not a villain to do such a deed.

(B) He was a villain to do such a deed.

(©) He was not a villain to not do such a deed.
(D) He was a villain to not do such a deed.

(E)  Question not attempted

Convert the following sentence given in Active
Voice to Passive Voice :

Where did she find this key ?

(A)  She was the one to find the key ?

(B)  Where was this key found by her ?

(C)  The key was found somewhere by her.
(D) By whom was that key found there ?
(E)  Question not attempted

Choose the most appropriate English word for
the Hindi word given below :

ottt

(A) Original

(B)  Duplicate
(C©)  Substitute
(D)  Manuscript

(E)  Question not attempted



66. W TEE 7 HITE-T-ZAXN Bl TAGAT B AT,
TSTR 3TTST TTSTRATH THet 3 3N F ATH F ST SATAT
22
(A)  FaTg yaT g
(B)  HERIST qaTs T 8 11
(©  wars ATt Mg 1
(D)  Farg s g
(B)  rIaRa wed

67.  TISTEATHT Hiqar T ““Tprer”’, fa= 2021 & Fife
FHTGH! REHR ST, s g Toream o o 2
(A)  wierer foster
(B)  FHaITATC WIS
(C) #Ird SIS
(D) WA GUR
(B) STaRd wed

68.  fmferiaa & ¥ BT A T TSRATH F ST T8N
gTHAMAE?
T fgw a1y fasedt # ¥ WEY SUYER ST H A
B :
(A)  dat, PleT, e
(B) AWIR, TE, T
(C) i, TR, AT
(D) TSHT, ST, Ra<ia
(B)  3raRd e

69. € TSTRAT T et TATE ot 7% T Fives # o
MTHA 2 -
(A) &= 9T ST (B)  IEATRTIOT ST
© Ig ISt (D) =T WIS
(B) STIaRa wed

70. T ATaRgd # ¥ HI9 AT &1 (Cholera) F AR HT
v e ATETH 2
(A)  HeplHa TR & Trer Tueh | ST
(B)  HEHT HIeAT
(©  Zfud uTt T I
(D) a1 ¥ HiS[g fag®om & ATeA |
(B)  3raRd e

%< 56HH 13

66.

67.

68.

69.

70.

Which ruler established the “Madarsa-E-Hunari”,
which is presently known as the Rajasthan School
of Art?

(A) Sawai Pratap Singh

(B) Maharaja Sawai Ram Singh II
(C©) Sawai Madho Singh I

(D) Sawai Jai Singh

(E)  Question not attempted

The Rajasthani poetry collection “Mugtee”, which
won the Sahitya Akademi Award in 2021, was

authored by :

(A) Meethesh Nirmohi
(B) Kanhaiyalal Sethia
(©) Mangat Badal

(D)  Sonali Suthar

(

E)  Question not attempted

Which of the following places come under the
Hadoti Plateau region of Rajasthan ?

Choose the most appropriate answer from the
options provided below :

(A) Bundi, Kota, Karauli
(B) Nagaur, Churu, Sikar
(C©)  Tonk, Ajmer, Bharatpur
(D) Barmer, Jalore, Sirohi
(E)  Question not attempted

The Rajasthani Saint whose writings are also
included in the Shri Guru Granth Sahib is :

(A)
(©)
(E)

Dhanna Bhagat Ji (B)
Dadu Dayal Ji (D)

Question not attempted

Devnarayan Ji

Swami Swarupdas

Which among the following is a primary mode of
transmission for Cholera ?

(A) Direct contact with infected person
(B) Mosquito bite

(C) Consumption of contaminated water
(D) Airborne droplets

(E)

Question not attempted

P.T.O.



71.

72.

73.

74.

75.

W
IS

FHION AT BT ST TS F Balal & Hbe
TreATeTiar # & Toa w1t 7 g3t o 2

(A)  gaw (B) TR
© ™ (D) e

(E)  3rqaRa e

A 7 30 T&=1 ¥ Tt T BT Uh-{aaTg Wit &1 fpar|
AT FHTH B 7 40 fa=1 7 Q=7 ool At o etz w

F{ T 3T TN FTH B foha g7 & BT TH ?
1 4

(A) 17; (B) 20;

© 36 (D) 28

(B)  3raRd e

TrafeTRaa ® ¥ FHiF-TT AT 1 AT 89 e

ST ST 9 fopa Sfrar 8, fored wrans fara

3T ST ITET B BTt BT AT BT R 2
(A)  qwIRT (B) @
©) @ (D)  Tast

(B) 3T aRd "

THRTER B ST 6 W H feTrad | & B a1

FHIT TE T S ?

(A) g IRTIAT TIAHTEAT Bt T St Tl B

(B) T TAYST UIAHIAT &l T St =St I HF
S E

Q) e Ty ar | Rera 2

(D)  FHg ac W THRER & &HaTE 2722 HieX 2

ITART T3

FrfaRad # ¥ HF-91 U eEawr fgagd (i)
TE & ?

(A) TS IS AT
(© drdry

(B)  3rqaRa e

ot ReeH
PR

(B)
(D)
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71.

72.

73.

74.

75.

In which of the following village was Karni Mata
born near Phalodi in Rajasthan ?

(B)
D)

(A)
©)
(E)

Suwap Ranakpur

Ringas Khimsar

Question not attempted

A has done one-third of a work in 30 days.

B completes rest of the work in 40 days. If they

work together, then in how many days can they do

the whole work ?
1

17—

(A) 7

(B) 20§
C 36

(E)

(D) 28

Question not attempted

Which of the following forms of Rajasthani folk
drama performed by the Bhil tribe depicts the
stories of Lord Shiva and Goddess Parvati ?

(A) Tamasha
©

(E)

(B)
(D)

Swaang
Rammat Gavri

Question not attempted

Which of the following statements is not correct
regarding the peak of Gurushikhar ?

(A) Itis the highest peak of the Aravalli range.

(B) Itis higher than the highest peak of Satpura
range.

(C) Itlies in the Sirohi region.

(D) The height of Gurushikhar is 2722 metres

from the mean sea level.

Question not attempted

Which of the following is not a hardware device ?

(A) LCD Monitor
©

(E)

(B)
(D)

Operating System
CPU ups

Question not attempted



76.

77.

78.

79.

80.

81.

W
IS

I Ut ERT fAeii &t fbew “ugedt” | 76.
Terareh g feredt 1 &7 Bt ““gferer’” o stenia
g2
(A)  FasEE™ I (B)  werdg ferarst
Q) gI#He g (D) FrRsT=
(E)  TIaRa wed
“Giegr et FH Te-ATd WS ToE |77
frtaRad # o fope &9 O Seifua 2 2
= faw aTv forspedt # @ WW IUYFR IR HT A
L
(A)  rBrelt (B) wAETR
© et (D) g
(B) STIaRa ued
Rt & faerarer S wfex e v A quer o E 2 |78.
(A) TR IR (B) g TIHTAT
© 3TEe (D)  <ATTRR
(B)  3rgana ued
g # ¥ 59 W\ W @ SeErg | 79.
(T Trenieg Te Ha) BT T ToreT= | gam o7 ?
(A) T (B)  ZawTelt
©  HrETET (D) AT
(B)  3raRd e
I TSTRATHT T /T 1 Terert 7 A1 Fargy, fora |80.
ATt TEATE B H fort ST E
(A)  aratT® (B) I
(© et (D) femra
(E) 3rIaRa ued
T H e i U9 W AUERl &1 |81
e TR X A AT B
(A) T (B) =
© T (D)  Tere Wit
(B)  3rgaia usd
56HH 15

The Hindi Film “Paheli” directed by Amol Palekar,
is based on the short story “Duvidha” written by :

(A)
(©)

Vijaydan Detha  (B) Malchand Tiwari

Suryamal Misran (D) Girija Vyas

(E)  Question not attempted

The ‘phetia’ style of hand-block printing is
associated with which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options provided below :

(A)  Akola (B)
© (D)

(E)  Question not attempted

Sanganer

Kota Barmer

The Dilwara Jain Temples in Sirohi have been
carved out of :

(A) Sandstone (B)
©) (D)

(E)  Question not attempted

White marble

Granite Limestone

In which of the following place was Swami
Keshwanand, (a Educationist and Saint), born in
Rajasthan ?

(A) Mandawa (B)
© (D)

(E)  Question not attempted

Deomali
Neemrana Magloona

Name the genre of Rajasthani prose/poetry in
which the texts are written in “Velio” verses :

(A)
(©)

(E)  Question not attempted

Vachnika (B)
Veli (D)

Jhoolna

Vigat

In Rajasthan, the Chief Medical and Health Officer

is appointed at the level.
(A) State (B) Block
(C©) District (D) Revenue Village

(E)  Question not attempted

P.T.O.



82.

83.

84.

85.

86.

87.

88.

W
IS

IMHAR 9T ATEAT | G S ool 9o | 82.
(Ra=-=1 T=T) & ®9 7 U= T 71T 7, aTies 1
T &It QT ST Feh |
(A)  I7FAd FIOT (B)  Iaiet gUOT
(©) wwad gdor (D)  |HAA-3Tade YT
(B) R e
AT T TR FTITTITH-2005 & T [Fea= T2 |83.
& AT TN F TSH HT AT & ?
(A) 5 (B) 4
Q) 2 (D) 3
(B) TR e
TSTEAT | IHE T Yol Bl RAAE ? 84.
(A) TS AR (B)  Sfrerqe
© faiteTe (D) 3R
(B)  3rgaia usd
TSR fem /9T (2025 7 & IFIEN) H $o |85
EEEIGIEE
(A) 250 (B) 200
(C) 180 (D) 195
(B)  3rgaia usd
afg (x—y): (x+y)=3:5 T ar (2x2+y2) : (4x2—y2) 86.
A B
A) 1:1 (B) 11:21
(C) 33:61 (D) 13:63
(B) R e
STaTE et fpaet FEuE A R ? 87.
(A) TR S (B)  FATE AG
©) qArEr (D)  =iset et
(B)  3rgaia usd
TN P HIAT ASH! BT AT TATY, TTA 7 1947 |88.
H AT TSI o ST QTaTEd UTed 1 2y |
(A)  FrETE (B) WIS
© TS (D) &RETs
(B)  3rgaia usd
56HH 16

is generally used as a rear-view mirror
in vehicles, to see the traffic behind them.

(A)
©)

Concave mirror (B) Convex mirror

(D) Plano-concave

mirror

Plane mirror

(E)  Question not attempted

The Right to Information Act-2005, mandates the
constitution of how many types of Information
Commission ?

(A) 5 (B) 4
© 2 D) 3
(E)  Question not attempted

Where in Rajasthan is the Umaid Bhawan Palace
situated ?

(A) Sawai Madhopur (B)
© (D)
(E)  Question not attempted

Jodhpur

Chittorgarh Udaipur

What is the total number of seats in the Rajasthan
Legislative Assembly (as of June 2025) ?

(A) 250 (B) 200
(©) 180 (D) 195
(E)  Question not attempted

If (x—y): (x+y)=3:5, then find
2x2+12) : (4x2—y2)

(A 1:1 (B)
(C© 33:61 (D)
(E)  Question not attempted

11:21
13:63

The Jawai River is a tributary of :
(A) Gambhir river (B)
© (D)
(E)  Question not attempted

Banas river

Luni river Chambal river

Name the Bhil girl of Dungarpur, who attained
martyrdom during the Rastapal Agitation, in June
1947.

(A) Kalibai (B)
©) (D)
(E)  Question not attempted

Motibai

Laxmibai Hirabai



89.

90.

91.

92.

93.

W
IS

q¥ 1911 H T A O IR S ¥ HiGT r(89.
ATAHATOT T TeTNEd H ¥ S ST o7 2
(A)  HErrST I e
(B)  HERTST A1 g
(©) HERTST HaTs 5y e
(D) HeERwT 3IET e
(B)  STfeie wed
A 3R B THaa Topat 7/ &1 120 159 # T 96 & |90
B 3T C fiaese 3¢t &1 1 90 fom & #T Tahd &
STE1P A 3T C THaTHT 39 72 fod | &Y 9hd 21 It
A, B 3R C HA®HT FTH &L, af o fpa+ foa # g0
PTH B L TP & ?
(A) 66 (B) 56%
©) 60 (D) 47
(B)  3raRd e
Teh TeeiaToT o 39T 1891 TR & 92 T &=10 foresy | 91.
ITET T 1.5 I o TAT| 18 URT & og IHBT
AMETFATE ?
(A) 65 (B) 665
Q) 74 (D) 905
(E)  ranra e
TSTRATT BT TE TSTAT ST TIBEATT b TAT TG Bict|92.
TS T AT AT HIATE, B -
= faw Ty faspedt # ¥ Wew IUgE I BT AT
g
(A) TR
(B) W
© s
(D) THR
(E) R e
“PIER wHE FerH g aREieEr T #| 93,
T O TS T 2
(A)  HTHAT (B) gH
(©)  grdat (D)  SEH
(E)  argaia usd
56HH 17

Who among the following reconstructed the
temple of Shri Goga Ji in the year 1911 in
Rajasthan ?

(A) Maharaja Ganga Singh
(B) Maharaja Man Singh

(©) Maharaja Sawai Jai Singh
(D) Maharaja Umed Singh

(E)  Question not attempted

A and B together can do a work in 120 days; B and
C together can do it in 90 days; whereas A and C
together can do it in 72 days. If A, B and C work
together, then in how many days can they do the
work ?

1
(A) 66 (B) 56 >
(© 60 (D) 47
(E)  Question not attempted

A batsman in his 18™ innings makes 92 runs
thereby increasing his average by 1.5 runs. What is
his average after the 18th innings ?

(A) 65 (B)
© 74 (D)
(E)  Question not attempted

66.5
90.5

Which of the following districts of Rajasthan shares
the shortest International border with Pakistan ?
Choose the most appropriate answer from the
options provided below :

A) Ganganagar

(

(B) Jaisalmer
(C) Barmer
(D)  Bikaner

(E)  Question not attempted

The “Sardar Samand Medium Irrigation Project” is

built on the river in Rajasthan.
(A) Kakni (B)  Sukri
(C) Parbati (D) Jakham

(E)  Question not attempted

P.T.O.



9.

95.

96.

97.

98.

W
IS

WA B STAOET (2011) F IR, T H AT
TCTTTIAT (0-6 T T T 2
(A) 895 (B) 888
© 980 (D) 780
(B)  3raRd 99
% 60,000 T TRT TBet a9 & fAT 4% F R T 3
T a9 & fTT 5% Y I THYIS TS I IR AT
TS| S 9 % 37 | 2T Thgig AL
(A)  T6,220 (B) 5,820
(C) T 5420 (D) 5,520
(B)  3rgana ued
MS Word T8 T &1 TiHedar & ?
(A) Ut TiTeduR
(B) TaeH ATedaR
(©) gfeferet Aivedar
(D) feamgd g
(B)  3rgana ued
MS PowerPoint # TTSE M BT IRH ¥ & FIA &
ToTT B2 9TfEshe Holt TERT § AT ST 2 2
(A) F1 (B) F3
(C) F5 (D) F7
(B) STIaRa ued
2011 T STATIT F AR, TERAT # 10 dF A
HH FTAHEAT T T o
(A) T, =
(B) A AHAAHT
(O Had YATHTE
(D) SETHT, FATHG
(B)  3rIand wed
56HH
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96.

97.

98.
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According to the Census of India (2011), what was
the child sex-ratio (0-6 years) in Rajasthan ?

(A) 89 (B) 888
(© 980 (D) 780
(E)  Question not attempted

A sum of ¥ 60,000 is borrowed on compound
interest at the rate of 4% p.a. for the first year and
5% p.a. for the second year. The compound interest
payable at the end of two years is :

(A) 6,220 (B) 5,820
(G 5420 (D) 5,520
(E)  Question not attempted

MS Word is a type of :
A)  Application software
B)  System software

(

(

(C)  Utility software
(D)  Device driver
(

E)  Question not attempted

The shortcut key to start a slide show from the
beginning in Microsoft PowerPoint is :

(A) F1 (B) F3
(C) F5 (D) F7
(E)  Question not attempted

According to the 2011 Census, which of the
following districts of Rajasthan had a population of
less than 10 lakh ?

(A) Sirohi, Bundi

(B)  Only Jaisalmer

(C)  Only Pratapgarh

(D)  Jaisalmer, Pratapgarh

(E)  Question not attempted



99.

100.

101.

102.

W
IS

frfaRad # & v wRdr 5w = @« gigan gar
T 2025 BT AT B 2
(A)  dSTE (B) fuEm
(© wemw= (D) TSR
(B)  3raRd wed
T [T T91 FT A9 T99 F [0 MaTF
AT AL T
(A) 18a (B) 257
(©) 287 W (D) 32a9
(B)  3rgana ued
TS0 7T UTE-ATE HT ATAYAE 1T HY 3T T HT
TS|
I T2 79T 9TE =@ 8 STAT-3TT Tl 7§ Lo
T T Pt TEAT BT WL raxor geriar 2 |
T THAT H FA THATH ToF HHTT = 8400 £ |
T Tpel F H AT & HoT T=AT 1820 2, A THed F
T ATEAT HH, Tl B % FT THT HHTAT H T
T HHE 2
(A 75% (B)  66.66%
(C) 81.66% (D) 89%
(B) 31 aRd e
TR H 3T THR BT WAH “FMABT A6 Tt
a1 I T fepar STTaTT 2
(A)  THEET (B) SO
(€ IZAR (D)  ToiteTe
(B)  3rqaRa e
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99.

100.

101.

102.

Which of the following states of India hosted the
Khelo India Youth Games 2025 ?

(A) Punjab (B) Bihar
(©) Madhya Pradesh (D) Rajasthan
(E)  Question not attempted

The minimum age requirement for becoming a
member of the State Legislative Assembly is :

(A) 18 years (B) 25years
(C©) 28years (D) 32years
(E)  Question not attempted

Study the following Pie Chart carefully and answer
the question :

The Pie Chart given below shows the percentage
distribution of the total number of male faculties in
six different schools.

Total male faculties in all schools together = 8400

If the total number of faculties in school F is 1820,
then female faculties in school F are what

percentage less than total male faculties in school
B?

(A)  75% (B) 66.66%
(C) 81.66% (D) 89%
(E)  Question not attempted

Where is the first of its kind ‘Balika Sainik School’
is to be established in Rajasthan ?

(A) Bikaner (B) Jaipur
(©) Udaipur (D)  Chittorgarh
(E)  Question not attempted

P.T.O.



103.

104.

105.

106.

107.

e
TS

T TAX U Mg, TSTRATT TR &
= faw Ty fompet # ¥ Waw IUGER I BT GATT
B
(A)  IIHA
(B) 3t mEr
(©) e ®ie
(D) HETS TSt
(B)  rIaRa wed
WRA BT JTWOET (2011) F AR, T H
frfaRad St & ¥ e ATedT J1grdT 3 Jog
FH AT ?
(A) TI% (B) EIATE
©) SweER (D) S@ER
(B)  3raRd e
TTSTEATH TS TSIE 2025-26 F FTHW, € Bl YATH
THIT [ (MSP) W I9+ W JIF [Fed T
[ERICIC AN FHT AT g fHaT
ST |
(A) 175 (B) 125
©) 150 (D) 200
(B) STIaRa wed
T F feieiad et § ¥ $at Sl TR
AT T “Water Vision @ 2047 - Way Ahead”
Ioos qEU Ed WRAE T WAl SR
IS TR 13T AT 2
(A)  SER (B) @R
©) IR (D) 3RER
(B)  3rqaRa e
TSTEATT AIBN b MIGT Yaer=, TEEdT Ud A0S
TRETT TTo T 7 AT FHal RAT & ?
(A) SR (B) SR
© 3R (D)  Sterqe
(B)  3rqaia e
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103.

104.

105.

106.

107.

Rajasthani dress famous at the National level is :

Choose the most appropriate answer from the
options provided below :

(A) Achkan

(B)  Angrakhi

(©)  Jodhpuri Coat

(D) Marwari Pagri

(E)  Question not attempted

According to the Census of India (2011), which of
the following districts of Rajasthan had the lowest
female literacy rate ?

(A) Churu
©)

(E)

(B)
(D)

Hanumangarh

Jaisalmer Jalore

Question not attempted

According to the Rajasthan State Budget
2025-26, a bonus amount of ¥ will be
provided to farmers for every quintal of wheat
sold at MSP (Minimum Support Price).

(A) 175 (B) 125
(©) 150 (D) 200
(E)  Question not attempted

In which of the following places of Rajasthan,

Ministry of Jal Shakti organized the 20d All India
State Minister’'s Conference on “Water Vision @
2047 - Way Ahead” ?

(A) Jaipur (B) Jaisalmer
(©) Udaipur (D)  Ajmer
(E)  Question not attempted

The head office of the Disaster Management, Relief
and Civil Defence Department of the Rajasthan
Government is located in :

(A) Jaipur (B) Jaisalmer
(©  Ajmer (D) Jodhpur
(E)  Question not attempted



108.

109.

110.

111.

112.

W
IS

TSR # b TG, T & he701 Rk o Fafaiaa
H I Fop TTE & THepe A ToRAT R 2

(A) &=t (B) S

©C) ToTEEE (D)  SrEaTgT

(E)  3rqaRa e

“Io eI TS’ UNASHT B TSR b
frfaiea & 9 e @i g 7 999 ued O
TR T O ?

(A) I AAEA I

(B)  HacTSd ITHT T AT

(C©)  ARFT TSI AR

(D)  TOTYHIT T 3T

(B)  3raRd e
frfiEd § ¥ WRA & T8dT FIA-¢ I Aqq
FTATE?

(A) "o A ) () it e (o)
(© Fammaaq (o) (D)  Sfse o (forsi)
(B)  3rgana ued

HIRA I TAOET (2011) 3 AR, 2001 H 2011 T
TR & 6 e | SeEen # g9rey giad
T TTTTT T 31T A7 2

(A)  SiHeHR (B)  SfrerqT

© w (D) SR

(B)  3raRd e

TR H ‘g TqEr vy’ feteiad & ¥
foper g A Rara & 2

T ToT 7T fospedt # o WEH UG ST BT AT
B ;

(A) IR (B) faxtEe

(©) e (D) 3R

(B) 31 aRd e
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108.

109.

110.

111.

112.

In Rajasthan, the Tropic of Cancer passes through
the southern tip of the state near which of the
following places ?

(A) Bundi (B) Jaipur
(©) Rajsamand (D) Banswara
(E)  Question not attempted

Project “Great Indian Bustard” was first launched
in which of the following protected areas of
Rajasthan ?

(A) Desert National Park

(B) Keoladeo Ghana National Park
(C)  Sorsan Wildlife Sanctuary

(D) Ranthambore National Park
(E)  Question not attempted

Which of the following is India’s First Cable-
Stayed rail bridge ?

(A) PambanBridge (B) Anji Khad Bridge
(C)  Chenab Bridge (D) Bogibeel Bridge
(E)  Question not attempted

According to the Census of India (2011), which
district of Rajasthan had the highest percentage of
decadal change in the population from 2001 to
20117

(A) Jaisalmer (B)  Jodhpur
(C) Barmer (D) Jaipur
(E)  Question not attempted

In Rajasthan, the “Van Vihar Sanctuary” is located
in which of the following regions ?

Choose the most appropriate answer from the
options provided below :

(A) Baran (B)  Chittorgarh
(C©) Dholpur (D) Udaipur
(E)  Question not attempted

P.T.O.



113.

114.

115.

116.

117.

W
IS

A 3R B 7 A T 84,000 3R T 80,000 FT Faer
FH AR E [HAT| IR 7EH 18, B 7 T 12,000
T 317 Forarer fopam| SF 97T C, T 96,000 FT Fraer
FIH TR T T T4T7| TR & HIA & TH a9
IS B a1l M7 H A, B 3T C & arwien F =41
T BT ?
(A) 21:20:24 (B) 21:23:24
(C) 21:20:16 (D) 21:22:16
(B)  3rqaid e
fr=fafaa & o fpmsr sumi, getae o et
e Ff i gz & fow fFarsmar g 2
(A) gIRTA (B) &R
©) WA (D) srEdrTEH
(B)  3raRd e
3 TEATE 2 : 3 I H & AR 3761 LCM 216 2
T WEATRT BT IANT TS 2
(A) 36 (B) 180
Q) 216 (D) 30
(B)  3raRd e
AR HTT BT BIH-HT TTET HITP TR
& TR BT ST AT R ?
(A)  rTEE - 14 (B) 3T - 32
©) FT=T-19 (D) =T -51A
(B) 31 aRd e
MS Excel # @igsefic @t fewice vaaeer ar gt
z?
(A)  xlsx (B) .text
(©) .csv (D) .docx
(B)  3rqaRa e
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113.

114.

115.

116.

117.

A and B started a business by investing I 84,000
and < 80,000 respectively. After 4 months, B made
an additional investment of ¥ 12,000. At the same
time, C joined the business with investment of
T 96,000. What will be the ratio in the shares of
profit of A, B and C in the profit made at the end of
one year from starting the business ?

(A) 21:20:24 (B) 21:23:24
(© 21:20:16 (D) 21:22:16
(E)  Question not attempted

Which of the following is used to uniquely identify
a computer on the internet ?

(A) URL (B) Host
(©) Domain Name (D) 1P Address
(E)  Question not attempted

Two numbers are in the ratio 2 : 3 and their LCM is
216. What is the sum of the numbers ?

(A) 36 (B) 180

(© 216 (D) 30

(E)  Question not attempted

Which of the following article of Indian

Constitution guarantees the Right to Constitutional
Remedies ?

(A) Article-14 (B) Article -32
(©) Article-19 (D) Article-51 A
(E)  Question not attempted

The default extension of a spreadsheet in MS Excel
is:

(A)  xlsx (B) .text
(©) .csv (D) .docx
(E)  Question not attempted



118.

119.

120.

W
IS

56HH

frfafad & & SH-97 TR @16 I 9T &
TH FATHR 3 R T F3 Jiqd & 93 a1 19t
ST T B B ?
A) T’ (B) g dTelt
© W= (D) =it
(E)  3rqaRa e
T FHT T 5T F ACARTE @t e (119,
Tepaeht TCTTE U HIAT S ?
(A) @A
(B) S T % BT ~HTIATENT
Q) =g E A
(D) T BT
(B)  3rgana ued
WA Aiqem $t oraar § “Eaeaer’ i [ 120.
“eraifeaer’” 9reg fhe SEM ST SIS T & ?
(A) 247t (B)  44arf
(©)  4oaf (D) 73at
(B)  3rgana ued
-00o0-
23

118. Which of the following folk dance forms of

Rajasthan involves balancing multiple brass
pitchers or earthen pots on the dancer’s head, and
is performed by both men and women ?

(A) Gair (B) Terah Taali
(©) Bhavai (D) Chakri
(E)  Question not attempted

The Governor of a state appoints the Council of
Ministers of that state on the advice of the :

Chief Minister

(B)  Chief Justice of High Court
(©)  Union Home Minister

(D)  District Collector

(E)  Question not attempted

Which amendment added the words ““Socialist”
and “Secular” to the Preamble of the Indian
Constitution ?

(A)  24th (B)  44th
(©) 4ond (D) 73rd
(E)  Question not attempted

P.T.O.
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